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QUESTION 1

You are adding a new host for an HPE 3PAR StoreServ proof-of-concept .In addition to the host name ,What is the
minimum information that is required to create a host profile?

A. Host Persona
B. Host MAC

C. Host set

D. Host WWN

Correct Answer: D

QUESTION 2

A customer migrate their infrastructure from a 3rd party storage to a Nimble environment. During an architecture
workshop, you discuss VMvision with the customer and the system engineer. Which statement is correct when
implementing performance monitoring using VMVision?

A. Nibmle service processor collects relevant per VM performance data and send them using SSL port 443 to VMvision

B. VMuvision is an agentless integration into infosight and needs only the Vcenter server appliance credentials to
connect. (page 112)

C. VMware vSphere storage API\\'s array integration (VAAI)has to be configured to combine storage and VM
performance metrics

D. SNMP trap service has to be configured to send traps to infosight and integrate performance data using VMvision.

Correct Answer: C

QUESTION 3

You are planning a single-site Nimble solution with iSCSI connectivity. Two 10GbE SFP+ dual port NICS are included in
the configuration. You designed an intelligent Resilient Framework (IRF) stack with HPE FlexFabric 5900CP switches.
Which statements is correct when discussing the IRF limits for this configuration?

A. When connecting an iSCSI storage to an IRF stack, a minimum of four 10GbE ports must be used per switch.

B. A maximum of two switches can be used in an IRF stack when connecting storage.

C. In an IRF stack with storage connectivity, the 40GbE ports cannot be used.

D. The used IRF ports for iSCSI traffic have to be configured as 10GbE converged ports.

Correct Answer: B
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QUESTION 4
DRAG DROP
Select the correct initiation option for each HPE Primera function.

Select and Place:

Answer Area

User Initiated

Autonomic

Correct Answer:

Stripe data across drives

Create Virtual Volumes

Create Common Provisioning Groups

Create RAID-6 Virtual Volumes

Optional Performance Management

Export LUNs
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Answer Area
User Initiated Autonomic i .
Stripe data across drives
Autonomic iti
User Initiated Create Virtual Volumes

User Initiated
I Create Common Provisioning Groups

User Initiated
' Create RAID-6 Virtual Volumes

Autonomic '
Optional Performance Management

User Initiated
r Export LUNs

QUESTION 5

Which statement is correct when discussing the RAID layout of an HPE Nimble HF-series storage system?
A. RAID 6 triple parity is set up -21 data drives are used for RAID stripes.

B. RAID 6 triple parity is set up -18 data drives are used for RAID stripes.

C. RAID 6 or RAID 1 can be set up -24 data drives are used for RAID stripes.

D. RAID 6 or RAID 1 can be set up -18 data drives are used for RAID stripes.

Correct Answer: A

QUESTION 6

Which statement is correct when comparing functionalities of the AF and HF series in the Nimble storage portfolio?
(Choose Two)

A. Zero Copy Clones are a unique feature of All-Flash arrays within the Nimble Portfolio.

B. >99.9999% availability is measured and guaranteed for AF and HF series arrays.
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C. HF series has a dedicated read cache and AF series does not have a dedicated reach cache.

D. HF series supports storage snapshots and replication using Veeam Backup and Replication, HF and AF series
support storage snapshots only

Correct Answer: BC

QUESTION 7

Which protocols are currently used in the front end by HPE 3PAR StoreServ systems? (Choose two.)
A.iSCSI

B. Infiniband

C. SAS

D. NVMe

E.FC

Correct Answer: AE

QUESTION 8

A customer is evaluating an HPE 3PAR StoreServ system in a proof-of-concept project. The customer wants to receive
emails about important storage system events and alerts. What feature do you need to configure?

A. HPE OneView integration
B. Secure Service Agent

C. Real-time Alert Processing
D. Local Notification Service

Correct Answer: D

QUESTION 9

You are planning a single-site Nimble solution with iISCSI connectivity. Two 10GbE SFP+ dual port NICs are included in
the configuration. You designed an Intelligent Resilient Framework (IRF) stack with HPE FlexFabric 5900CP switches.

Which statement is correct when discussing the IRF limits for this configuration?
A. When connecting an iSCSI storage to an IRF stack, a minimum of four 10GbE ports must be used per switch.
B. A maximum of two switches can be used in an IRF stack when connecting storage.

C. In an IRF stack with storage connectivity, the 40GbE ports cannot be used.
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D. The used IRF ports for iSCSI traffic have to be configured as 10GbE converged ports.

Correct Answer: A

QUESTION 10

You are demonstrating adding a new virtual volume for an HPE 3PAR Storeserv array for your customer.in addition to
the volume name What is the minimum information required to create a virtual volume(select two)

A. Persona type
B. Domain

C. Host

D. Size

E. CPG

Correct Answer: DE

QUESTION 11

HOTSPOT

A customer has a Nimble HF40 and needs to create a support ticket.

Click the option in the InfoSight portal where the customer can perform this task.

Hot Area:

HPE InfoSight ™

FEOTECTION i}

' 83.

Correct Answer:
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QUESTION 12

A customer has mission-critical applications that intermittently experience heavy disk 1/0. The storage speed has the
most impact on the application\\'s performance. The customer does not want to dedicate SSD disks to these
applications because additional performance is only needed periodically, and moving the volumes between tiers takes
too long. Which HPE StoreVirtual VSA feature can address this customer\\'s challenge?

A. Storage virtualization

B. Space Reclamation

C. Thin Provisioning

D. Adaptive Optimization

Correct Answer: D

QUESTION 13

A customer recently acquired another company and found that the existing infrastructure was outdated and costly to
maintain. They need to put a complete infrastructure solution in place that minimizes the footprint in the data center as
quickly and possible. Which solution you recommend?

A. Simplicity 380

B. Bladesystem 7000

C. Converged systems

D. Synergy 12000

Correct Answer: A
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QUESTION 14

Which storage feature is supported by both the HPE StoreVirtual and the HPE 3PAR StoreServ storage, and is a key
differentiator of HPE storage solutions in the industry?

A. Network RAID

B. Peer Motion

C. virtual Copy

D. Dynamic Optimization

Correct Answer: B

QUESTION 15

What can move data directly from a snapshot to backup storage independent of backup server software?
A. SSMC

B. Virtual Lock

C.CLI

D. Express Protect

Correct Answer: D

The Express Protect feature offers data protection by facilitating Express Protect of snapshots from HPE 3PAR
StoreServ to HPE StoreOnce.
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